© HEINRICH KIPP WERK GmbH & Co. KG

2|~ olHA ZRK|
oY

THE!:

AR T

2 E Est Xl

4 52 5.8.

AHIQIPA AE HA:

&= E Fs ®Mal:

LIA} £2]E 1.4305.

2 El 1.4034.

HIZE, SRR 2tZ

LIA}F &£2]E 1.4305.

A2 El1.4305.

M o2

Bk

&= ' Fst, odob, 24 A3t %2
AHIQIHA AE HA:

2 E Fst oot 2 233
HZE Zs odot W =S¥ IR S

o o4
9 HI

oo 22 mjo [m oX
i

At
Rl

T
o
= rir
ol
rr
*H
2
=
Olo
o

HH O Ml

o

oo - o

mn mo > °°
M

°
==

[E
=

Am

4>

|

JILL]

1l

O 03O

ok ngt

2 4y

>
>,

I

i

m

lo

>

n

]

n

il
I
[l
0
4
0

n

e
Hu

a2 Aoq)0| 7+s35HHLE A olgof
HSE JtsELCH

o
ol
=

—_—— = .
EtQl E: LIAL Bl IS
Bt F: LIAL E JUE

www.kipp.com - info@kipp.com 1/3



°
— —_ —_ —
LIAL EI0] U= AE =2 AH|2I2|A QIHA SRX]
=M
@ D2 @ |
I
rr‘ Swi B==0
3 Sw2
l I
-~ [ L -l
3
r |
|
w
l T
D55
D1
EZ5 29
oA =R
FEWHS  EIY =A K& EH D DI D2 L L1L2 L3 AEZ3 SW1 SW2 Fx30° A[E Erd
712 S| S Bl EX-
F12E. N F22. N
K0341.1903 E AEl FZEY 3 M6x0,75 M2 2412 5 35 35 8 - 0,8 4,5 10
K0341.1004 E AE P 4 M8x1 M3 32156 7 4 10 - 1 6 12
K0341.1105 E AE Ast 5 M10x1 M4 3717 7 8 5 13 - 1,3 5 12
K0341.1206 E AE PEE 6 M12x1,5 M6 4220 8 8 6 14 - 1,8 6 14
K0341.1308 E AE PEET 8 M16x1,5 M8 5626 10 12 8 19 - 2,3 15 35
K0341.1410 E AE 28 10 M20x1,5 M8 6228 12 12 10 22 - 2,8 15 34
K0341.1412 E AE Z3 12 M20x1,5 M8 6628 14 12 12 22 - 2,8 15 39
K0341.1516 E AE] Z3 16 M24x2 M10 80 32 18 14 16 27 - 32 20 46
K0341.01903 E  2AEQIBA A&l Ast 3 M6x0,75 M2 2412 5 35 35 8 - 0,8 45 10
K0341.01004 E  AE|QIHA A&l PEE 4 M8x1 M3 32156 7 4 10 - 1 6 12
K0341.01105 E  2AE|IQIYA A& PEET 5 M10x1 M4 3717 7 8 5 13 - 1,3 5 12
K0341.01206 E  2AEIQIBA A&l Ast 6 M12x1,5 M6 4220 8 8 6 14 - 1,8 6 14
K0341.01308 E  2AE|QIEA AEl P 8 M16x1,5 M8 56 26 10 12 8 19 - 2,3 15 35
K0341.01410 E  2E|QIFA A&l Z3 10 M20x1,5 M8 6228 12 12 10 22 - 2,8 15 34
K0341.01412 E  2E|QBA A& Zs 12 M20x1,5 M8 6628 14 12 12 22 - 2,8 15 39
K0341.01516 E  2AE|QlEa A= Z3 16 M24x2 M10 80 32 18 14 16 27 - 3,2 20 46
K0341.11903 E  AEQIHA AEl HIZE8 3 M6x0,75 M2 2412 5 35 35 8 - 0,8 45 10
K0341.11004 E  2E|QIBA A&l HZE8 4 M8x1 M3 32156 7 4 10 - 1 6 12
K0341.11105 E  AHIQIHIA AE HZ8 5 M10x1 M4 3717 7 8 5 13 - 1,3 5 12
K0341.11206 E  2E|QIEA A&l HIZE3 6 M12x1,5 M6 4220 8 8 6 14 - 1,8 6 14
K0341.11308 E  2AE|QIBA A&l HIZ48 8 M16x1,5 M8 5626 10 12 8 19 - 2,3 15 35
K0341.11410 E  AEIQIHA AEl HIZ8 10 M20x1,5 M8 6228 12 12 10 22 - 2,8 15 34
K0341.11412 E  2AEQIHA AEl H|IZE3 12 M20x1,5 M8 6628 14 12 12 22 - 2,8 15 39
K0341.11516 E  2AEIQIBA A&l HIZ8 16 M24x2 M10 80 32 18 14 16 27 - 3,2 20 46
K0341.2903 F AE PEE 3 M6x0,75 M2 2412 5 35 35 8 10 0,8 45 10
K0341.2004 F AE PEET 4 M8x1 M3 32156 7 4 10 13 1 6 12
K0341.2105 F AE Ast 5 M10x1 M4 3717 7 8 5 13 17 1,3 5 12
K0341.2206 F AE PEE 6 M12x1,5 M6 4220 8 8 6 14 19 1,8 6 14
K0341.2308 F AE PEET 8 M16x1,5 M8 5626 10 12 8 19 24 2,3 15 35
K0341.2410 F AE Zs 10 M20x1,5 M8 6228 12 12 10 22 30 2,8 15 34
K0341.2412 F AE A3 12 M20x1,5 M8 66 28 14 12 12 22 30 2,8 15 39
K0341.2516 F AE 28 16 M24x2 M10 80 32 18 14 16 27 36 3,2 20 46
K0341.02903 F  AE|QIBA AEl Ast 3 M6x0,75 M2 2412 5 35 35 8 10 0,8 4,5 10
K0341.02004 F  AEQIHA AEl PEE 4 M8x1 M3 32156 7 4 10 13 1 6 12
K0341.02105 F  AECIHA A&l Ast 5 M10x1 M4 3717 7 8 5 13 17 1,3 5 12
K0341.02206 F  2AEIQIBA AEl PEE 6 M12x1,5 M6 4220 8 8 6 14 19 1,8 6 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
— —_ - —
LIAL EIO| Ql= AE =2 AH|QI2A oIHIA SR
Z= 29
EE2HS B Y EAl 2= EH D DI D2 L L1L2 L3 AEZ3 SW1 SW2 Fx30° A[E Erd
7|18 S S EbAY ==
F12% N F22. N
K0341.02308 F  AE[QIEA AE Z3 8 M16x1,5 M8 56 26 10 12 8 19 24 2,3 15 35
K0341.02410 F  AHIQIHA AE 23 10 M20x1,5 M8 6228 12 12 10 22 30 2.8 15 34
K0341.02412 F  AH|Qlg A A& 43 12 M20x1,5 M8 66 28 14 12 12 22 30 2,8 15 39
K0341.02516 F  2AEIQIBA AEl Zd3 16 M24x2 M10 80 32 18 14 16 27 36 3,2 20 46
K0341.12903 F  AHQlAa A& HIZ48F 3 M6x0,75 M2 2412 5 35 35 8 10 0,8 4,5 10
K0341.12004 F  AHQIBA A& HIZ& 4 M8x1 M3 32156 7 4 10 13 1 6 12
K0341.12105 F  AH|QIgA A& HIZE8 5 M10x1 M4 3717 7 8 5 13 17 1,3 5 12
K0341.12206 F  2E|QIE A A&l HIZE 6 M12x1,5 M6 4220 8 8 6 14 19 1,8 6 14
K0341.12308 F  AH|QIEA A& HIZ& 8 M16x1,5 M8 56 26 10 12 8 19 24 2,3 15 35
K0341.12410 F  AH|QIF A A& HIZ& 10 M20x1,5 M8 6228 12 12 10 22 30 2,8 15 34
K0341.12412 F  2EQF A A&l HIZS 12 M20x1,5 M8 66 28 14 12 12 22 30 2,8 15 39
K0341.12516 F  AH|QIEA A& HIZ& 16 M24x2 M10 80 32 18 14 16 27 36 3,2 20 46

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



